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What is the difference between them — 177991°2 N

OVERVIEW
The X713 asks what are the practical differences between 727 who gives the
reason for saying 1"92, because nnwh 1Xp2 PR, as opposed to X271 who gives
the reason of M>pP% P1xn 0°7y 1PR. The Xa offers three differences. NvoIN
will ask that there are seemingly two additional obvious differences between
X217 727 that the X3 does not mention, M0 will explain why the Xn
does not mention these differences.
mMooIn anticipates the following questions:

— 1799352 NN To99 992519 581 NY
The &3 could not have said that there is a difference between 7727 and
X217 in regards to one who brings a v from *"X to 2"m; according to 737 who says
that the reason for saying 1"91 is because the people of 2" are not InwY PR°P2, then it is
understood that if one brings a v from "X where the people are W% PX°p2 there is no
need to say 1"92, according to X271 however who says the reason for saying 1"92 is because
M™PY PN 07V PR, then it makes no difference if the v is brought from %™n to >"X or

vice versa, in all cases there are no 11?3”|75 T"1¥1 07y, and one would need to say 1"92.
This seemingly would be a n"po1 between 1727 and X21.

moon will now explain why the X713 does not state this 1"poi:
— DNNI 2392 AN 292 MY T8 P9I ININA 1A 1) NaYY
For the view of 1721 is also that according to last 32139 in our 71wn in regard
to 2"n% 2"Rn 9 one is required to say 1''521 1''23, as stated clearly in the
a1wn. The reason for this is -
- 385312 YOX 79I 12998
For the onom were 213 that 7°91% has to say 1"92 on account of 5" N%a»
»"X%. The 771 is that if we would not require 211 to say 1"93, people would mistakenly

conclude that X°27 also does not have to say 1"92. Therefore both 77127 and X271 agree that
according to the *Xn2 13271 of our 7awn, 77m has to say 1"92. There is no difference

between X271 7127 in the case of 771 according to the >X7n2 1127 of our mwn.

moon will now explain why even according to the p"n who does not state whether X°2n is

! People do not travel frequently from 9"7% *"x nor from *"&> ™.
29y 7’51?3.'(1 127 X727 XOX 1927 102 NROw T¥ PR R"Om.
? See “Thinking it over’ # 2.
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required to say 1"93, the X n) still does not state specifically that this depends on the
nponn between 727 and X237, even though according to the p"n there is a difference by
7" between X271 720:

= DNIYI NIND N0 139709 11799353 NION 9INT NN DD 91 9193 RNP NanD)
And even according to the P''n also, the X723 does not say that the
difference between X271 7727 is in a case of 7°71, because this difference that
there is between them by 721 is already included in one of the differences
that the X723 already said, namely there is a difference between X271 7127 in
a case were one brought a v from a 773972 72972 in 9"'X itself. According to 727
there is no need to say 1"92 because the >"X °12 are w5 PX°pP2, and according to X237 there
is a requirement to say 1"92 because °°P% X1 7Y PR. The exact same np17nn, with the
same reasoning will be by "% >"&n v X°an7, therefore there is no need for the X713 to
repeat it.*

mdoIn has another question concerning the »n"po1 between X171 7127:

- 11799392 XN 09PN V) MNP N9T NN
And the reason why the X723 did not say that there is a difference between
X271 7727 in a case where the wa was already 2%%% when it was brought *"772n;

according to 7727, one must say 1"92, because TnwY PRPA PR, however according to X2
there is no need to say 1"92, since it is already 2 pn.

moon answers that the reason the X713 did not say this n"po1is -

- 7n”1‘,mb 211 °591 %3 NPANT Y993 N1 DIYN
because it is already included in another »"p21 that the &7723 stated, namely
when two 2>m>w brought the *"717an v, This case of *n °2 71nX is similar
to the case of @™pn, which Mmoo is now discussing. Regarding >0 >2 110X,
according to 7727, one must say 1"92, because TnwY PRP2 PR, however according to X2
there is no need to say 1"93, since these two 2m%W testify that the husband sent them with
this v, the husband will not be able to be 849yyn that he did not send this v3. The same
argument that X271 727 have concerning 20 2 71°NX applies to 2°1pn v3; according to 727,
one must say 1"93, because MY PRPA PR, however according to X237 there is no need to
say 1"93, since the vi is 2 pPn the husband will not be able to be 7y y» that he did not

* See “Thinking it over’ # 1.

> mpoin may mean that it is being 2>»p» now in *"R (for if it was 0>1pn in 2" the m°%w would still be
required to say 1"92 to insure that the 01°p is not forged [See 7"nX # 126]).

® See “Thinking it over’ # 3.

7 See ‘Thinking it over’ # 4.

8 See next 71°’NRT 7"7 NBOIN.
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send this vi. Therefore the X713 does not say this 12"po1 of 0™pn v, because it is included
in the n"po1 of »N "2 A1NX.

SUMMARY

The x5 did not mention ™% >"Rn 7°91 as an 17°°1°2 R2°R, since according
to the *X7n2 71327 all agree that 1"92 is required (X°2» X 9% 77°1), and
according to the p"n the 2"X of 791 is included in the 2"X of 712 n17MAN
*"X2. The X773 did not either mention the 2"X by a 0Mpn i, because it is
included in the 2"X of »7n "2 17 NR.

THINKING IT OVER
1. Why does the X3 choose the n"po1 of K2 1171 HJ’7DD,9 rather than
5"n% 5"Rn ovn?

2. Why does nmooin find it necessary to tell us the reason'® why the *X7n2 7327
maintain that 797 is required to say 1"52?

3. Why does the X3 choose the n"po1 of "0 *a 710X as opposed to the
n"po1 of o™Mpn 0A?

4. Why does moon add the phrase onpn> 77 at the end of “moon as
opposed to the case of 721 where NDOIN just says 719712 717AR D222 M7
"'R3?

? See footnote # 4.

10 See footnote # 3.
' See footnote # 6.
12 See footnote # 7.
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